
Econ 21410 - Problem Set IV
Selection Part I∗

April 22, 2014

This homework should be done in LaTeX The homework will be graded on correctness, but will
also heavily weight clarity and professionalism. Its better to not do some of the harder parts
than to turn in an incomprehensible document. Your R script as well as a log-file should be
submitted. Alternatively, use knitr to print your code inline in your latex document.

SUBMISSION: The homework must be emailed to Oliver and myself by 2p.m. Monday, April
the 28st. The email must include a pdf with the filename lastname pset4.pdf and R code called
lastname pset4 code.R where ”lastname” should be replaced with your last name. The subject
of your email should be [ECON 21410: pset3 submission]

If you are struggling, please use the github page to ask for help!* Remember that asking and
answering questions on our github page, coming to office hours to ask questions, and contributing
to the class wiki are all worth participation credit, which is 10% of your grade in this class.

A Compensating Differential Model

Suppose we have two schooling levels s = 1 and s = 0. Assume everyone is identical. An
individual can make I0 = 50 if they are uneducated and can make I1(N1) if they are educated,
where I1(N1) = 500 − 1
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• What condition ties down the equilibrium number of individuals who will get educated?
How many people will get an education (no need to code anything)

An Island Economy.

In class we went over (or will go over) several examples of sorting based on skill in an island
economy. In case I, skills were just randomly distributed. In case II, one of the occupations paid
everyone the same wage while the other occupation depended on one’s stock of skill. In case III,
skill matters for each occupation, but are perfectly correlated in a known fashion.

1. If a ∼ N(α, σ2a) and b ∼ N(β, σ2b ), what is the distribution of (a− b)?

∗Please email johneric@uchicago.edu and obrowne@uchicago.edu if you have questions.
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2. Reproduce the first 5 plots of my class notes using the formulas provided. Assume the
population is 100 people and that PF = PB = 1. For each of the 5 models store your
simulation data in a matrix with the columns: ”hunt”, ”fish”, ”occ”, ”wage”, where the
first two columns are hunting and fishing skills, the third column is equal to 1 if they
choose hunt and equal to 0 if they choose to fish, and the fourth column is equal to their
observed wage. For the first plot, draw both skills from uniform[0, 1] distributions. For
the 2nd -4th plot, draw hunting skill from the uniform[0, 1] and construct their Fishing
skill.

3. Finally, suppose that

[µi,b, µi,f ]′ ∼ N

([
0
0

]
,

[
σBB σFB

σBF σFF

])
and one’s log wage is equal to:

log(Wi,f ) = log(pf ) +X ′iβf + µi,f

log(Wi,b) = log(pb) +X ′iβb + µi,b

where X is physical strength.1 Draw values of X from uniform[0, 2] for the population
and assume βb = 2 and βf = 0.5 (hunting takes more physical strength than fishing).
Let log(pf ) = 2 and log(pb) = 1. Using the decision rule on page 9 of the class notes,
find a variance-covariance matrix which looks “reasonable” (i.e, no more than 75% of
individuals in either of the occupation, variances not so large that the observed skills play
no noticeable role). With this new

• Create a new matrix which has 7 columns: ”X” ”fishing wages”, ”hunting wages”,
”observed wages1”, ”observed wages2”, ”occ1”, and ”occ2” and fill in the first three
columns.

• In ”observed wages1” and ”occ1” record the occupation they choose (1 if they choose
to hunt, 0 if they choose to fish) using the decision rule from page 9 of class notes
and their observed earnings under this decision rule.

• In ”observed wages2” and ”occ2”, assume the agents do not know µi,b and µi,f , but
only know that in expectation they are 0. Fill in their choice and observed wages
using this alternative decision. How much Y1 and Y2 are produced in the two cases?
How many individuals make different occupational choices in the two cases?

subsubsection*Regression on your generated data

• Take the data simulated to make plot 1 and run a regression of Y on B and F using the
”lm()” command, do you recover the true skill prices? Run the same regression but use
the ”subset” option of the ”lm()” command to run only on those who are Fish, what skill
coefficients do you get? What about if you us the sub-population of people who hunt?

• Similarly, take the matrix generated in part 3 above and:

– Regress ”observed wages2” on X and a constant2 for the full population, do you get
the correct coefficients?

1use the package ”mnormt” or ”mvtnorm” for to draw draw from a bi-variate normal distribution
2By default the ”lm()” command will include a constant
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– Run the regression above, but restrict the regression to ”occ2==1” and ”occ2==0”,
do you recover the true parameters?

– Regress ”observed wages1” on X and a constant for the full population, do you recover
the true parameters?

– Run the regression above, but restrict the regression to ”occ1==1” and ”occ1==0”,
do you recover the true parameters?

– Discuss the results above (no more than 6 sentences.)

– I would recommend learning how to use ”xtable()” ”stargazer” or ”texreg” to output
regression tables automatically to latex, not required, but a useful skill!

Side Projects

For side projects related to this homework, please note what you did in your homework solution.

• Post on the class wiki example code to that makes a plot similar to the ones I have asked
you to reproduce in ggplot2. File an issue with the link so student’s know it is available.
(1 point for whomever posts, and up to 1 point for anyone who adds additional details /
explanation to the wiki entry.)

• Make a wiki entry on the “lm()” command in R explaining it and providing a couple
examples (1 point for the creator and up to 1 point for 2 additional people who clarify,
edit and extend the initial post).

• Read the Palgrave dictionary entry on selection bias and write a 1-2 page summary:
http://www.dictionaryofeconomics.com/article?id=pde2008 S000084

• Read Heckman’s 1976 or 1979 paper on selection and write a 1-3 page review response
https://www.sonoma.edu/users/c/cuellar/econ411/Heckman.pdf http://www.nber.org/chapters/c10491.pdf
(2.5 points).

• Find a published applied paper from the past 30 years which looks at selection into
occupations, jobs, the work force, or education. Write a 1-3 page review and response (2.5
points).

• Find a prewritten package for performing selection correction in R and write a wiki page
explaining it / providing an example (up to 2 points for the writer, and up to 2 points for
2 other people who edit, clarify, and extend with additional examples.)

• Rewrite some or all of this code in Julia or C++ using Rcpp (up to 4 points).

• Make a shiny app which allows a user to simulate from one of the models we have covered
in class using a garphical user interface (up to 4 points).

• Write a wiki entry for ”xtable()”, ”stargazer()”, and ”texreg()” explaining the command
and providing examples (1 point for initial writer, and up to 1 point for people who make
meaningful additional contributions such as additional examples.)
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